G\LANL Engineering Btendards\Eng. Marual [LEMN\Z. Appreved\ST—04010-30E2 dvg, 11/04/02 B 1461 0B3sAH

8 | 7 |

BILL OF MATERIALS

ITEM DESCRIPTION QTY| MFR. CATALOG No.
(1) | WoOD POLE, DF ____", CLASS 3 1

@ CROSS ARM, WOAaD, 3 1/2" X 4 1/2" X B'-D". 4 PFIN 4 HUGHES #323203C

@ CROSS ARM BRACE, 1 11/16" X 2 11/16" X 4B™ SPAN 4 BROOKS #44B5—48-24
@ SPRING WASHER, 5/8" SIZE 7 | JOSLYN 177

WIRE, 3/8" {78} H.S. STATIC, 3% COND. RE*\QS,D COPPERWELD

@ POLE BAND, 4-WAY, FOR 7 1/2° TO 12" DIA. 1 HUGHES #1111

LAG SCREW, 1/2" X 4" 1 | KISLYN #8784

(1) | CONNECTING LINK 1 | HUGHES #3170

@ BUY RALLER, WHEEL TYPE, WITH 3/4* X 2" BDLT 1 HUGHES #2B0R2

@ GUY GRIP DEADEND, "B” COAT, 3/8" SIZE, GALV. 1 PREFORMED #CDE3115
@ CRIMP CONNECTCR 2 HYTAP

LOW VOLTAGE STEEL PIN, 5/8%, 6" HEIGHT 12 | JOSLYN #2072

@D | PIN INSULATOR, ANSI CLASS 55-5 12 | VICTOR #$R

MACHINE BOLT, 1/2™ X 8" 8 JASLYN #J870B
SPRING WASHER, 1/2° SIZE 8 | JOSLYN #17B

@ MACHINE BOLT, 5/8" X 14" 2 JOSLYN #8814

@ SQUARE WASHER, 5/8" SIZE L] JOSLYN #1074

@3 | DOUBLE ARMING BOLT, 5/8" X 22° 6 | JOSLYN #Jas72

&8 | eve NuT, s/8° szE a | JOSLYN #1092

@ SUSPENSKON INSULATOR, PCLYMER 12 | JOSLYN #L151D

@B) | STRAIN CLAMP, DEADEND & ;E’SRELZ'{.:‘{'J“DERWN
DIST. FUSE CUTOUT, 100 AMF. 3 KEARNEY #144261—020
@) | DIST. TYPE METAL OXIDE SURGE ARRESTER WITH MOUNTING BRACKET 3 gg&f%{"ﬂ%ﬁ?@ﬁ%zﬁnﬂ-
@s) | No. 1/D BARE CGPPER WIRE, 7 STRAND REA;D

@ GROLUND WIRE STAPLE, 27 R‘EAg'D JASLYN #JBBSS
GROUND ROD, 3/4" X B' 1 | KISLYN #5338

&) | GROUND RAD CLAMP, HEX HEAD, 3/4° 1| JOSLYN #8403

@ WEITAP CONNECTOR 4q FCI—BURNDY (# AS REQURED)
& 1

) 2

&) 2

GENERAL NOTES:

DRAWING DEVELOPED FOR ML-3/ML-4
PROJECTS. FQR ML—1/ML-2,
ADDITICNAL REQUIREMENTS AND QA

REVIEWS ARE REQUIRED. (REMOVE
THIS NOTE WHEN INSERTED INTQ A

DRAWING PACKABGE).

1, THIS BILL OF MATERIALS AFPLIES TC DRAWING ST—G4D1D-3Q, SHT. 1,

2, EQUIFMENT ITEM NUMBERS (@) REFER TO EQUIPMENT NUNBERS IN

LANL SUPPRT SERVICES CONTRACTOR'S MASTER BILL QF MATERIALS,
ONLY THOSE NWMBERS USED ON SHT. 1 OF THIS DRAWING ARE SHOWN.

00 0 ¢ ¢ 00 ¢ OO0 ¢

NOTES FOR DESIENER:

(b0 NOT INCLLIDE ON' CONSTRUCTIEN
WING)

1

3 4
4 9
P 1. COMPLY WITH GURRENT EDMKIN GF §
b LANL DRAFTNG MANUAL FOR CALL- ¢
oUTS FRog9c0L AND LOCATION OF
P SCHEDULES/MATERIAL. 9
b 2. ASSIGN AN APPROPRIATE DRAWING ¢
3 L
3 [

Vg W W VR

FOR DETAILS

O —B—B—0—0—B8—O0—B

90900606609

060000000 0—¢

oL DESCRTION DWN |VER|cHkD] suB | wP

A FACILITY & WASTE OPERATIONS
md SYSTEMS ENGINEERING & MAINTENANCE

LANL ENGINEERING MANUAL ORAVN

M. BAKER

SITE ELECTRICAL DISTRIBUTION STDS.

DESEN D. BRYANT

PRIMARY METERING SHEDK
HILL OF MATERIALS E2 |4, anoNaN

BLDG. X TA-X | "™ |s/30/02
EUBMITTED APPROVED FOR RELEASE
DISCPLNE POCI DAVID POWELL STANDARDS MANACER: TGRIN QRUCH

SHEET

2

° LOS AIEI NoS 953 2 aF 2

PO Box |
NATIONAL LABRRATORY  Lap Alomps, Naw Maxko B7648

CLASSFIEATION U [REVIEWER  NIGHAEL LADACH [DATE 0/38/82
PROJECT 1D RAWING NG REV

CHAPTER 7 ST-G4010—-30| O




